KL KZ102 5 E B 2R BB af s g4 2R3 Aa
25 1 MEB2LZ_FH FB O L@EMHE
X0 1819B(RAM=) L& AWML 4 KB 1 8

1. RS E 1 ) 9170 R AR Hook’s Law (B s EALEE) » F=-kx o kB2 58 s IEIR
B XA TR REAE SRR - (a) SRR AR A AT AR SR PR k) B
{7 o (G P I SIEALH)(10%)(0) FoA T LA 71 AT P48 088 e b B st 2 A7)
AR R 5 —— R IR TR A 2y T T el 2 AR 49 BRI [ (S B2 007 1) 3
Fi AR IRBAT RS > AR DI f = sy - #5FIF LA (@) 45 2R 0 F1 7
F R 2w oA as AR f T sERAR (10%) -

2. Acar’s velocity as a function of time is given by Vx(t)=a + Btz, where a=3 m/s and
=0.1 m/s3. (a) Calculate the average acceleration for the time interval t=0 to t=5.00 s.
(10%) (b) Calculate the instantaneous acceleration for t=0 s and t=5.00 s. (10%) (¢) Draw
Vx-t and ax-t graphs for the car’s motion between t=0 s and t=5.00 s. (10%)

3. A3.0-kg block is pushed against a spring with negligible mass and spring constant k=600
N/m, compressing it 0.5m. When the block is released, it moves along a frictionless,
horizontal surface and then up a frictionless incline with slope 37°. (a) What is the speed
of the block as it slides along the horizontal surface after leaving the spring 7 (10%) (b)
How far does the block travel up the incline before starting to slide back down ? (10%)
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